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The scattering amplitude is computed from the Green
function.
Green function (one field example):

G(x1, ..., xn) = lim
ε→0

∫
[Dφ]φ(x1)...φ(xn)ei(S[φ]+iε)∫

Dφei(S[φ]+iε)
(1)



Computing the Green function by numerical simulation
of path integrals – example

Simplify above to one dimension (time) and replace φ by q.

G(ta, tb) = lim
∆ti→0

∫
(
∏∞

ti dqti )(qtaqtb
∏

tj ei(L(q(tj ),q(tj+1))+iε))∫
(
∏∞

ti dqti )
∏

tj ei(L(q(tj ),q(tj+1))+iε)
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Numerical approximation of path integral of F
Multi-dimensional integral of F, integrated (numerically) along each line. 
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{𝑞𝑡𝑖} is called the lattice


